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1. Which of the following is an example of American property law's pragmatic orientation?
A. A court’s finding of a trespass when someone merely enters onto another’s property without permission.

B. A court’s interpretation of the law of licenses—as applied to movie theaters and tickets - according to society’s

prevalent understanding of the permissions afforded to ticket holders.
C. A court's unwillingness to use the law of licenses to regulate access to movie theaters and places of entertainment.
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2. Tort law aims to:
A. Deter as well as compensate injury.
B. Make society safer and individuals more free.

Both options are true.

Both A and B are true and thus the correct answer is C. Tort law has many flaws but worthy aims. Disparate judges,
courts, attorneys, legislators and parties have a hand in naming and interpreting the high ideals of the common law of
torts. Yet, there is broad agreement that tort law aspires to deter avoidable injuries and justly correct through
compensation those injuries that the law fails to prevent or deter. The system of tort law also strives to contribute to the
rule of law whereby communities of economically and socially interdependent peoples can be both safe and free.
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3. When Karl Llewellyn wrote about the importance of viewing substantive law through the spectacles of procedure,

what did he mean?

A. Llewellyn was urging law students to recognize that mastery of procedure is a key tool for lawyers in securing good
outcomes for their clients, and also that procedure has the capacity to frustrate important substantive policies

altogether if it does not function properly.

B. Llewellyn was writing about class differences in the United States. He was urging law students to recognize that
access to justice frequently depends upon having a lawyer, so lawyers should commit themselves to providing

representation to under-served communities.

C. Llewellyn was writing about the importance of formalism in legal analysis. He was using "spectacles" as a metaphor
for a scientific instrument and urging that lawyers approach the law as a set of problems with precise and knowable

scientific answers.
D. Llewellyn was writing about the differences between federal and state courts in our system of government.
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The correct answer is A. Llewellyn therefore made clear the relationship between procedure and access to justice:
procedure is a necessary tool in the pursuit of justice, and poorly formulated procedures can actually inhibit justice.
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4. Which of the following statements accurately describes the field of Civil Procedure in the United States?

A. Civil Procedure involves the mechanisms by which civil claims (as opposed to criminal charges) are adjudicated within

our courts.
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B. Civil Procedure is concerned not only with the formal rules for bringing lawsuits but also with the impact of those

rules on the ability of people to enforce their rights and gain access to justice.

C. Civil Procedure sometimes overlaps with more "substantive" areas of law, so it may be necessary to ask how

procedural doctrines interface with the underlying substantive law.
D. All of the above statements are accurate.
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| The correct answer is D. All three of the answers are important areas in the study of civil procedure.

5. In the famous case of the two Peerless boats, the court found that the contract the parties had made for cotton

delivered on the ship Peerless was void. Why?

A. The parties each had something different in mind—a different ship—and there was no way in which either party was

being more objectively reasonable.

B. The parties each had secret intentions that they chose not to reveal to one another, leading to a case of promissory
fraud.

C. The parties were not actually embarking on sea voyages themselves.
D. Only one of the Peerless boats was carrying cotton, and it was the wrong ship.
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A. Justifications and excuses both address questions of why someone seemed to violate the law, even if they

intentionally caused harm.

B. Justifications generally require only that the defendant honestly (actually) believed that there was a good reason to

act as the defendant did, even if that belief was not reasonable.
C. Excuses are valid because in cases of excuse the defendant did not intentionally harm someone.
D. Lack of free will is the basis for both justifications and excuses.
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7. Which of the following distinguish American contract law from civil law contracts doctrines?
A. American contract law requires consideration to enforce promises.

B. American contract law requires assent to impose any liability.

C. American contract law rarely regulates the content of contractual terms.

D. All of the above.
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8. The United States declared independence from Great Britain in 1776, and created an initial constitution, called the
Articles of Confederation, soon thereafter. Why did leaders of the new nation come back to Philadelphia in 1787 for

another constitutional convention to draft a new document?

A. They wanted to explore an arrangement whereby they would rejoin a confederation led by Great Britain.
B. The national government under the Articles of Confederation lacked essential powers.

C. The Articles of Confederation insufficiently protected individual rights and freedoms.

D. Leaders from southern states were concerned about northern efforts to abolish slavery, and wanted a document to

protect their interests.
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We the People of the United States, in Order to form a more perfect Union, establish Justice, insure domestic Tranquility,
provide for the common defense, promote the general Welfare, and secure the Blessings of Liberty to ourselves and our
Posterity, do ordain and establish this Constitution for the United States of America.
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9. When the doctrine of res ipsa loquitur applies,

A. "the thing speaks for itself” and plaintiffs can more easily meet the evidentiary burden of proof by a preponderance

of the evidence.

B. “ the employer is responsible ” and defendants can sue employers for injuries committed by their employees in the

scope of employment”.

C. the burden of proof shifts from the “preponderance of the evidence” standard to a “ clear and convincing evidence”

standard.
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The correct answer is A. The Latin phrase derives from classic case precedent of Byrne v Boadle. Not infrequently
plaintiffs are injured due to what is likely someone else’s negligence, but are at a loss to identify the precise
mechanism of injury and perhaps the precise tortfeasor. The doctrine creates a rebuttable inference that negligence on
the part of a person with control over the instrumentality of injury—such a barrel of flour or armchair that has fallen
from the sky—is the negligent party. Answer B is incorrect. The doctrine that employers who have not been negligent
are responsible for employee’s negligence committed in the scope of employment has a different Latin name,
respondeat superior. Answer C is completely untrue. The doctrine shifts a burden from plaintiffs to defendants but does
not change the overall burden of proof in a case to a clear and convincing evidence standard or any other standard.
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10. The United States has long been a regime of strong judicial review, where the U.S. Supreme Court has the authority
to declare the meaning of the Constitution, even in cases where the President and/or Congress disagree and even
where the Court’s rulings have the effect of invalidating the actions of the President and/or Congress. What variable is

most responsible for the Supreme Court’s authority in this area?
A. The text of Article Ill in the Constitution, which establishes the judicial branch.
B. The fact that the justices of the Supreme Court have life tenure.

D. The fact that over time various Presidents, members of Congress, and the broader public have come to recognize and

accept the Supreme Court's preeminent interpretive authority.
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11. The sentence that a convicted defendant receives is of the utmost importance to the defendant, to the criminal

justice system, and to society at large. Which of the following statements about sentencing is most true (choose one)?
A. Sentences are based only on their effectiveness at crime control.
B. Sentences are quite uniform throughout the United States.

C. Compared to the prison sentences other western developed nations impose on defendants for various crimes, prison

sentences in the United States tend be considerably longer.

D. Except for capital sentencing, juries decide how much sentence the defendant should receive.
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12. Which of the following is the most distinctive feature of American property law?

A. Its Legal Realist dimension.

B. Its reliance on the common law.
C. Its pragmatic orientation.
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The correct answer is C. The overt pragmatism of American property law is its most distinctive feature. This

pragmatism manifests itself in the reality that courts interpret and update property law by reference to society’s needs
and requirements at any given point in time, and their gradual evolution.




